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<> It is difficult for her to answer this question. — beBEhFaID 3L

izt > T, ZOEBMIZEZADITHELWTT)

(F5E ) It is not (isn’t) difficult for her to answer this question.
Iz L>T, ZOERMICEZLZDIFEEL <2 Td)

(EEM3C) s it difficult for her to answer this question?
(HIZL>T, ZOBEMICERZLDIFEL VO T ?)

<> It will be easy for him to pass that exam. — [BhEhEE (will) DX
(T L > T, HORBRICEKT D Z LIFMHHTL X D)

(FFE3C) 1t will not (won’t) be easy for him to pass that exam.
(Plz L > T, HORBRICEMT D Z LILHHETITRWTL L 9)

(&ERIC) Wil it be easy for him to pass that exam?
(P& > T, HORBRIZEKT 2 Z LIFfHHLDOTT N ?)

A M BEXTIHTEZBTEL TOEINIEER!
Bl z1E, LT D20 X D6, BE L TWAEGETNRERD £,

(1) FACE > CTHAGEEZFEIRWIZ LIIHHTT, — BELTWLDIT THAGELFET Z &)
It is easy for me not to speak Japanese. <KD SFEEZFET I ENTEHO0H LV

(2) R E > THAGEZFE T Z LIIMHETIEH Y A, > BELTWDHDIT TfliH ]
It is not easy for me to speak Japanese. < HAGEZGET Z L IT#EL V>
MOREFDE D EH/ET S & Z1ZiE, not 2% to DRENCA S,
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